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Q26.The unit of the self-inductance coefficient is:

_ A (Caadl) el Jales Ll 32a 5 ) .26
\V4 2
A); B)— o= D) E) T%s

Q27.An air-core solenoid contains 500 turns with a length 40cm and a cross-sectional area6cm?.
Then the self-inductance is:
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@0.471 mH  B)0.146 mH C)0.834mH D) 0.656 mH E) 0.780 mH

Q28.If ug 1s the energy density resulted from an applied electric field E and ug is the energy
density from an applied magnetic field B. Then the ratio ug/ug will be: ,
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Q26- A long solenoid has a self inductance of 10 uH. The energy stored in its mag. field when it
carries a current of 10 A4 is:

AVS0uS ‘B) 250 uJ C E3500 uJ ) D) 5000 uJ
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Q26- Which is of the following independent on the electric current 1?

A‘):S’afﬁmtance L B) Mag. Flux & C) Mag. force on a conductor F D) Mag. Field B
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Q27- A long solenoid has a self inductance of 10 uH. The energy stored in its mag. field when it

carries a current of 10 4 is:
A) 50 w B)5S0mJ C) 250 uJ )_500>#Jt’w’-7
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Q26- Faraday’s law of induction relating the electromotive force &, magnetic flux @, and
time ¢ 1s: |
A) &=-adi/do B)t=-d &7dD ﬁ dd/dt D) @ =-d &7dt
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Q27- If the magnetic field is 15 mT', what is the magnetic energy density? '

A) 179.1 ( B)89.S5 ) C) 11.9 D) 5.96
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Q29- A 200 mH inductor carries a steady current of 0.5 4. When the switch in the circuit 1s

openefi, the current 1s effectively zero after 10 mS. What is the induced electromotive force
(emf) in the inductor during this time?

A) 10000 B) 1000 C) 100




